EANRAROBESIFRT — 2 N—ZABISH—F 2017511898 (k) 9mllliz4H

B S%o% 5 397L66FKE (xwlw | lmEmml - |5 @) o 8
[A&4£] 1 7% :1,500,000 @ ~ 23 :510,000 @ 33 :300,000  ~ 4 3#&:210,000 @ . 5 7 :180,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
117l 7| b= F A Ho2 51;_5(3)IE§ 1:(3_3).7 7765 |41.3] — | 4 | 432 émiﬁi (hat®)
R:ib—t>TS514 N B:b—trvIL—FK (-6) BREEM IXF4T7—ALA
2055 |TIVE=Y i 2 E‘J‘lf%?ﬁi 1(:13/32.)8 5-5-5-4 | 41.7| — 2 444 ggﬁk (J118%)
RELFOYY BUFATENT 18 | B w6
3 o |NA—%ZXFF— b Ho2 g%ﬁ?ﬁ 1(:13/32.>9 1-1-1-1 | 42.8| — | 7 | 4ot ?ﬁf’ﬁ% (I11185)
LiFHTTIRE B RUT IS 8 150 Y 1 g
4 4| T —RNNea—L4 # 2 fﬁ*iﬁ (11:314/.22) 4442 |427| — | 5 | 428 15;7_1%5 (I1116%)
R:ZZATAR BTUELAL G191 55  Yag
= = S 4 2 | BEEX 1:34.4 2-3-2-3 | 43.1| — 3 431 | MREEZ (1)
5|8[10)| 77 17a—F 54.0 3/4) o) | PEEE
R:7z7F5YRN B:N=-37 PR AE T ¢l
6 61 7—FETXpy b 2 | BIERE (12314/29) 8-8-9-8 |42.1| — | 8 (4_064) EEE% (i)
R:YZR4—3=24— B:YaOFTxvy b %S
717 5 E—wA> 4 2 S?%*M (11315/2% 10-9-10-10 | 42.0 | — 9 415 j;;gg— (1)
QAL LNT Ry IR BTHIEF4 4 )| Ks
gli|1|FN=—ya-v o2 | R (63 2226 |4a1| — | 6 | 4B | EHAR (I
LTAVALRZ B NIVELRNTHEYR (#5) p=JI 74
9 3 TUART S 1LY o2 5125._077 =] 1</§5+;1 9-9-8-7 |42.6| — 1 486 %iz— (J1185)
RAXEFY BiTNE—XH—L 08 | ML s
108lg| FNV=—7>4— o2 | TRAR (11:315/.27) 6-6-7-9 [43.3| — | 10 | 421 ;Si;\ui (1)
R:GTRILE— BNLAAL—UT O3 |2
® 1—F—@EBIERL
13—7+— 2,(1,10),4,5,9,7,6,3,8
23—7+— |2,1,10,4,5,9,7,6, (3,8)
== 2,(1,10),4,5,7,9,3,6,8
40 —F— 2,4,10,5,7,1,3,6,9,8
[ N5
B 7 6009 714K 5-7 670 B 5-7 1,420M JEE 2-5-7 8,270M
B B 7 210 2-7 1,440H e B =5 3,570M JEE =57 40,7404
5 160 2-5 1,520 B & 5-7 1,790M
2 570M B H =% 4,810M

ABICOVWTRDTEEERROODE. TR LIV,



